AP EAMCET 2020

Andhra Pradesh State Council of Higher

Notations :

Education

1.0ptions shown in green color and with #" icon are correct.

2.0ptions shown in red color and with #* icon are incorrect.

Question Paper Name:
Subject Name :
Creation Date:
Duration:

Total Marks :

Display Marks:

Share Answer Key With Delivery Engine :

Actual Answer Key :
Calculator:

Magnifying Glass Required? :
Ruler Required?:

Eraser Required? :

Scratch Pad Required?:

Rough Sketch/Notepad Required? :

Protractor Required?:

Show Watermark on Console? :
Highlighter :

Auto Save on Console?:

Is this Group for Examiner?:

ENGINEERING 21st Sep 2020 Shift1
ENGINEERING
2020-09-21 13:28:47
180

160

No

Yes

Yes

None

No

No

No

No

No

No

Yes

No

Yes

No

AP EAMCET 2020



AP EAMCET 2020

Mathematics
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 80
Number of Questions to be attempted : 80
Section Marks : 80
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 1 Question Id : 813561641 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

.l ('lB?I _
sm(T)—l-sec T)_

(e

Options :
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Question Number : 2 Question Id : 813561642 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

n
If the coefficients of x° and x'° in the binomial expanston of (3 e i 5) are equal. then n =

A [
(3 + %) Do’ 1”00k 1 HErw MRS DATH0NSE 1 D dod?

Options :
1.« 69

> % 96

5w 66

4.% 99

Question Number : 3 Question Id : 813561643 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

; ; : ar 39
By neglecting x* and higher powers of x. find approximate value of \x% + 64 — Vx? + 27

vt e x arEed 6D, Vil + 64— Vil +27 a308); EZFA0RY RV

Options :

| (- L 2
1 % 234
2. %
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1 ——— 2
432
7
1 ——x?
3 % 32
7
1] ——x?
4 % 42

Question Number : 4 Question Id : 813561644 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

In a bank. the principal increases continuously at the rate of 6% per year. Then the time
required to double 6000 rupees 1s (mn years)

28 EP(oS) 000 B3 6% YD DYDY o DEDBIE . a0 6000 draraben
ﬁgof’.{) THEFAS TH0NR D0DAW (‘rﬁobej:]ﬁbnuﬁ )
Options:

L —
g
> log6
, 3 98
50

?EDgS

50
—Hag 12
4. % 3
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Question Number : 5 Question Id : 813561645 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

The point to which the origin should be shifted so that the equation y* — 6y — 4x + 13 =0

is transformed to the form y? + 4x = 0 s

y2 — 6y — 4x + 13 = 0 508000 2 + Ax = 0 6rH3ne° D8 AT6ITH08S
200t 2 Dok SGL A6 ST’

Options :
1. % 33D

2. ® (_11_1)

4. % (_11 3)

Question Number : 6 Question Id : 813561646 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find the equation of the right bisector of the line segment joining the points (3,4) and (—1,2).
(3,4) 208050 (-1,2) Docdoyvidd 80 Barwotans) vo) RROOGRD O “eDEdt0
Options:

1@ 2Xx+y—5=0

5 % 2x—y+5=0
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38 2x+y+5=0

% 2x—¥y=56=8

Question Number : 7 Question Id : 813561647 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Geometrically. theset {z € C: |z — 2 — 2i| = 1} represents

(ZEC: |z-2—2i] =1} DS Docdosnw 5DaD HLA0 I 2D’

Options :

a closed circular disc with center at (—2, —2) and with radius 1
o JT5"0 DF)o. Sodaw (—2,—2) a‘sﬁ“go 1.

a closed circular disc with center at (2, 2) and with radius 1.
Rodyd TS DTyo0. So@dw (2, 2) T %o 1.

a closed circular disc with center at (1, 1) and with radius 0.5 .
Sogsaw (1,1) a‘s.ﬁ“gc 0.5 ©90208 Dodyd JT"s"C DTFyo

a closed circular disc with center at (—1, —1) and with radius 0.5
Sogsdw (—1,—1) Eg%“gc 0.5 00 Dodyd HT5°6 D)o

Question Number : 8 Question Id : 813561648 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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If the probability for A to fail in an exam 15 0.2 and that for B is 0.3. then the probability that

erther A or B fails 1s =

28 008" A B 35_:‘*75%3?.13 &@gaw TN T Rogrdjden HER 0.2 Sdoo 0.3.
e A To° B D0L8" 63000 6 08 Dogrdfd <

Options :
1' i’ D.z

> = 0.4
3. ¢ 0.5

4 % 0.3

Question Number : 9 Question Id : 813561649 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

All the words that can be formed using alphabets A, H, L, U, R are written as in dictionary (no
alphabet 1s repeated). Then the rank of the word RAHUL 1s

AH,L U, R 0 ¢H0rhod (2 o560 28 30 Soff 8.5 TErd) I Desiuwwi
gomzmas &3 :mmmﬁa&b Dot gmagaé‘ 0B\, RAHUL
G20 dws) §8) doth?

Options:
1 % 70

L w71

3.33 ?3
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4w 74

Question Number : 10 Question Id : 813561650 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the eccentricity of an ellipse. if the length of its latus rectum is 4 units and distance
between its vertex and the nearest focus 1s 3/2 units,

T Londw TE 4 AhrIL 20050 A Aol GAGT (o TS e GrED 3/2
ORI BN, &8 YRS &8) oge?

Options :
1

1.«'-/3

Question Number : 11 Question Id : 813561651 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The feet of perpendicular from the point A(1,0,3) to the join of the points B(4,7,1) and €(3,5,3) is

B(4,7,1) SBatw €(3,5,3) &0 ¢85 6 D088 A(1,0,3) Do) Ak Lowean Suodw.

Options :

(5 7 1?)
—_ =, —
1.« 3 3 3

Question Number : 12 Question Id : 813561652 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2

= 2
Solve the equation 3" =254

G T
35 T = 25 — 4" T Hhesnsand e

Options :
—1 only

% —13rgd

2 only

L 2378
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Both —1 and 2
—1 S0baswn 2 Eod&hﬁl

No Solution

4 % O S

Question Number : 13 Question Id : 813561653 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

(sin@ + cosech)? (sinf — cosecB)* 2020
Ifg e (Dg) then | (cos8 + secf)? (cos@ —sec8)? 2020| =
(tan 8 + cot 8)? (tanf — cot8)? 2020

(sinf + cosecf)? (sinf — cosec§)? 2020

g € (O,g) 900D, | (cos B + secH)? (cos@ —secB)® 2020| =
(tan@ + cot)? (tan@ — cot8)? 2020

Options :

1.% 1
2 % —1
3.v 0

4 % 2020

Question Number : 14 Question Id : 813561654 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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J1+sinx4+vV1—sinx
| Fr———, -
J 1+sinx—/1—sinx

The derivative of y = Tan™} [ with respect to x 1s equal to

| (P b e
—1 | v 1+sinx+vV1-sinx

y = Tan

] L9000, X d&gvé Y 08 9DSRAD =

J1+4sinx—V/1—sinx

Options :

1.% —1

Question Number : 15 Question Id : 813561655 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

x—4
x4

+a, x<4

fW=y atp . x=4

x—4
|x — 4]

+b, x>4

If f(x) given above is continuous at x = 4. then find the values of ‘a’ and *b".

2R trad f(x) 8 Qﬁsﬂ@@é Da0DhAw x =4 :Jcéﬁ wmbélmcmé ‘@, b R 3w,
Options :

1.4
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a=-—1, b=-1

Question Number : 16 Question Id : 813561656 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Let the equation of the curve passing through the poimt (0, 1) be given by y = J Y dy If
the equation of the curve is written in the form x = f(y). then f(y) =
(0,1) Docidsy) Koot T 2& ¢ HAEBRAD y = erx* dx . & 38 RN 1 =
f(y) ™ o, e f(y) =

Options :

| w log |4y —3|

o F— 1;4
, » (oglay —3D

. (Egg|3—:yDIE4
4, ® log |4}:3|

Question Number : 17 Question Id : 813561657 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
AP EAMCET 2020
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The interval in which v = In(In(x)), x > 1 is decreasing is

x> 1, vy =In(In(x)) D % Dendws 5850 HAoHa0?

Options :

, » (0,2)

Question Number : 18 Question Id : 813561658 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

T =20-3] -4k b=1+4]-2k. T=31 -] +4kthen.[Txb b xT Tx7|=

T=20-3] -4k b=14+4]-2k. T=31-] +4kosd [Txb bxT Tx7]=

Question Number : 19 Question Id : 813561659 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Bill and George go target shooting together. Both shoot at a target at the same time. Suppose Bill
hits the target with probability 0.7 where as George. independently. hits the target with probability
0.4. Given that exactly one shot hit the target. what is the probability that it was George's shot?

D& dosw a’fg & BH QPO 28 VP(D) 28 R0000E" Bt k. DO 2,60 U
0.7 moe;uagaé? 08030 2 2,63 o) 0.4 :ooq:vaée:aéf 5ot . 286 ArED OF(
B8RS, ©d a'*g Svd 208 Roerd(d

Options :
2

1.% 3

Question Number : 20 Question Id : 813561660 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

| i i 4
If @, B, y are the roots of f(x) = x® — 9x* + 26x — 24, then; ) E are the roots of
_ i % 3
Flr) =2 9x" + 26r— 24 & B,y Srosoen vad, 20 T -, 2, —e

S0PEFRIT (10 DAIE) BodeC..

Options :
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_— 24x3 + 26x%24+9xv —1

Phoe? = Zlncs b Op—-1

2.¥
3 % 24x% + 26x%2 —9x —1
4 % 24x% —26x% +9x +1

Question Number : 21 Question Id : 813561661 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

sin(m + x) cos (% - .1’) tan (3; - ;x:) cot(2m — x) -

If x # 0, then

sin(2m — x) cos(2m + x) cosec(—x) sin (37}1 + 1‘)

sin(m + x) cos (g ¥ :x:) tan (3; = r) cot(2m — x) |

sin(2m — x) cos(2m + x) cosec(—x) sin (3; + .1’)

x # 0 008,

Options :

1.330
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Question Number : 22 Question Id : 813561662 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2
. o @ .
If the area bounded by the parabola y = 16ax and the line y = 4mx 13 77 54 uits. then

the value of ‘m’ 1s

2

v = 16ax Dod0aAnS y = 4mx ROV LSS50 Baby JTofw % i ore)!
05 AN, ‘M’ Jensd

Options :

1.% —1

Question Number : 23 Question Id : 813561663 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the maximum distance of the point K (10,7) from the circle x? +v? — 4x — 2y —
20=0

o+ y? — 4 — 2y - 20 = 0 5308 K(10,7) Dochasd) Ao o 483 Grdian

Options :

1. % 22

> % 10
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Question Number : 24 Question Id : 813561664 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What is the quotient of x® — 5x% + 2x + 7 when divided with (x — 1) ?

xP=5x2 4+ 2x +7 20 (x — 1) § 2rhoDIRYE Iy g

Options :
x% +4x—2

’|_ e
Z_4

) % X X ik

3. % X*+4x+2
2

4. X5 —4x —2

Question Number : 25 Question Id : 813561665 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The equation of the line through the mtersection of 3x —4y+1=0and 5x+y—-1=0
which cuts off equal intercepts on the axes 1s given by

3x—4y+1=10 20800 5x+y—1=10 26¥000 Dok Do) Mot T
ArHsTUp AT ©odtnotrud) 666 A6V VRN

Options :

Lo 23x+23y—11=0

, % 23x+23y+11=0
3 % 23x—23y—11=0

4% 23x—23y+11=0

Question Number : 26 Question Id : 813561666 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 2 + 4i 1s one of the roots of x? + bx + c = 0 with b,c € R. then (b,c) =

b,c €ER 208050 x2 +br +c =02 2+ 4i 2& sorosw wowd. (b,c) =

Options :

o (4,-20)

L (4, 20)

o x (54-20)

4 o (4 20)
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Question Number : 27 Question Id : 813561667 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If @. f and y are angles that satisfy the following conditions. find the value of xyz

@, f 200050 ¥ Erre) $08 HALderen DA W0, X7z Dewd
a) tan(a) + tan(B) + tan(y) = tan(a) - tan(f) - tan(y)
b) x = cos(a) + isin(a)
¢) y=cos(f)+isin(f)
d) z=cos(y)+isin(y)
Options :
1. but not —1
| % 1,50 —1 56

—1.butnot 1
~1, D15

Question Number : 28 Question Id : 813561668 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the equation of pair of straight lines that bisect the angles between the lines
represented by ax® + 2hxy + by? = 0.

ax® + 2hxy + by? = 0 2rQod Ea}rcmzriy.a &0 RGN v Roador]

2DEGEAD BVDE.
Options :
x2+y?  xy
x2+y%  xy
9 % a—b h
x2+y2 h
3 % a-b  xy

Question Number : 29 Question Id : 813561669 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let u and v be two vectors in a plane. Then any vector w in the plane can be written as

W = aut + bv for some scalars ‘a’ and ‘b’ if and only 1f
1,V 20 2,8 SIS Totd DAILD. W & S0 D DB 28 V3. DT BhIW ¢, b
W = aul + by e Fairoed %Sm, DD ALK

Options :
Nomne of 1 and v 1s a scalar multiple of the other
| v U,V 08 D 288 DBAINE TS 8T DRI STHT.
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Nomne of |u| and |v| is a scalar multiple of the other
5 % [, ]v] 065" D 20583 HBMVE 7S 9T DLISHAD STEFPERD.

u and v have different direction

u,ven bzﬁéﬂlcsé e DO
3. %

1 and v are perpendicular to each other

4w UV WETIEEL Do)V Sotd

Question Number : 30 Question Id : 813561670 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let M and N be two mvertible square matrices over R of order 2 such that N 1s diagonal.
Then MNM ™! is diagonal

M 58050 N e 2 X 2 660 D" do0e $9A% ardgen. 9060 N a8 D6 aras
SN MNM ™ D56 798 o) o BYywe

Options :
For all M
- M DERD SIS oD E;ﬁ;ﬁr;‘.oz}m

Only when M is a scalar matrix
. M Rogz DTSS0I SS0

For all diagonal matrices M
_— M ey ::Jsg G VO[O

4. %
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M must be a null matrix
M 3386 S5°dyS 0NJROIDNED

Question Number : 31 Question Id : 813561671 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

j sin®(x) + cos®(x) o

sin®(x) - cos?(x) §

Options :

1 ¢ sec(x) — cosec(x) + ¢

5 % tan(x) + cot(x) + ¢

3 % cosec(x) — cot(x) + ¢

4 % tan(x) —cot(x) + ¢

Question Number : 32 Question Id : 813561672 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

& B
y+e’ d;
) 5 e E}Tﬂ? . then - =
dx
S
y+e}r+€y ay
X —ie 0. —— =
dx
Options:
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14x

T4

Question Number : 33 Question Id : 813561673 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Ifa and b are unit vectors such that @ + b is also a unit vector. then the angle between @

and b 13

T b ohrdS H8%09 T + b £re ohrdS H6% eond T 208w b © 068 Socn =

Options :
1. % 60°

, % 90°
3 % 30°

4 o 120°
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Question Number : 34 Question Id : 813561674 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

dy —¥

If v = Cosec™*(x) and = : . then
dx |x|vax® -1

— dy =i
y = Cosec™ ~(x) 20dosw — .-

€900,

Options:

Question Number : 35 Question Id : 813561675 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Angle between the lines of intersection of the planes x —y =0, 2x+y+z=0and
2~5=0, x+y-3z=101

x=y=0,2x+y+2z=080200 &I B 2x—2z=0, x +y -3z =0 dodeo
Do TSy e S

Options :
1 % 60°
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, % 45°

3 % 30°

4 v 90°

Question Number : 36 Question Id : 813561676 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let O denote the origin. If M(1,2). N(0,1) and A(x,y) are points such that xy > 0 and x +
y < 1. then choose the correct statement.

0 Sorodotdy). M(1,2). N(0,1) Soboiw A(x, y) Dotoahosd xy > 0 odofw x +y < 1
90008, $06 DIBTOS B AuAw?
Options :

A cannot lie inside AOMN
« AOMN 5" A &odicd

A lies inside AOMN
5> % AOMN &5° A &od

A lies only in the first quadrant
, A D0 F50ed” AFHDD God

A lies mside AOMN or in the third quadrant
» AOMN 5’ A God T PGS DS’ A God

Question Number : 37 Question Id : 813561677 Question Type : MCQ Display Question
AP EAMCET 2020
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The centre of a circle 15 (2, —3) and the circumference 1s 107, Then its equation is

Sogan (2,—3) 005D 3008 107 Be 538 HEGeAD

Options :
2 +yi+4x+6y+12=0

1. %

, x X Hy —dx+6y+12=0

3 2 +yi—4x+6y—12=0

4% Xty —A4x—6y—12=0

Question Number : 38 Question Id : 813561678 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

a*—1
lim

x—0 sin{x] B

Options :

1. ¢ lc’g(ﬁ)

= Taea)
—log(a
2. %
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Question Number : 39 Question Id : 813561679 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

N 6(n—-1)(n=2)- n-2020)42n343n%4n
Let P(n): 12422432 4= Lt : : , for

all n € N. Then which of the following is correct?

6(n—1)(n—2)-(n—2020)+2n%+3n+n

P(n): 12422432+ tnl= ; YneNn,
900 & $08 T DO dwAw?
Options :

P(n)is true foralln EN

| % P(n) das50VnEN

P(n)is true forall n = 2020
- P(n) QasoVn = 2020

P(n)is true forall n < 2020
3 @ Pn)dasw Va = 2020

P(n)is not true foranyn € N

4 % P(n)dasvs@VneEN

Question Number : 40 Question Id : 813561680 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If "P, =1680.thenn =
"P, = 1680 ©ond. n =

Options :

1.% 6
. 12

3 % 10

Question Number : 41 Question Id : 813561681 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let w=-2i+2j + k and v =1 —2] + 2 k. Then angle betweenw and 7'is

W=-2042) 4 kadaty 7'=1 -2 +2k wod, ¥ 200050 70 k| S

Options :

AP EAMCET 2020



AP EAMCET 2020

Question Number : 42 Question Id : 813561682 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

dy

3 2
; _ . . < ay
Find the sum of the order and degree of the differential equation y = x (d,_) e
X

dx?

3 2
d d
y=x (d—D + d—; 0350 AEBRAD o), D07 dakn Sdfidow Awdan =

Options :
2

9 |

4, #

Question Number : 43 Question Id : 813561683 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If a random variable X takes the values x;,x,, X3, ... ... X190 With probability P(X = x,) =
Ki(i+1).then 200K =

X Oiftﬁa!:)bg WUU"‘? X1, X9, X3, e Xqpp :J?.Daﬁ?)r\‘l) émgmm P(X = Xi'} =K 1([ + .l.)
ﬁo&?b}gém gdAcivod A, 200K =

Options :
1

1. % 1707
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Question Number : 44 Question Id : 813561684 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

4039
2020"

o - af (T =
If f:R — R is defined as f(x) = 2020% + V2020 S EER, The”Z 2f(4949)

=1

4039

2020%
¥ x € R, 1T Q6Dotseadd Z 2f (
=1

2020% ++2020

) r
f:Rﬁer(-r): M)=

Options :
1% 4040

, 4039

5 % 2020

4 % 1010

Question Number : 45 Question Id : 813561685 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For a right-angled triangle having the lengths of two sides as 2v/2 and 5, find the length of the third side.

28 LotE it GZoRANS" ot ZBd0w Teden 212, 5 wand Jares fadw Té) dvaed.

Options :

4. % V 13

Question Number : 46 Question Id : 813561686 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The coefficients of 5% in (1 + )™ (1 — x + x2)* is

(1 4+ 0101 — x + xH)M% &° x50 g

Options :

1.331

2 % —1
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Question Number : 47 Question Id : 813561687 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

lH‘lE
r+1 n—r+1
H = .then m =

n+i m
e

H+IC
r+1 n—r+1

== 0. T =
n-l-l[-: m
i

Options :

1. T

Question Number : 48 Question Id : 813561688 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Parabola with directrix x + 2y — 1 = 0 and focus (1,0) 1s

(1,0) =drradr. x + 2y — 1 = 0 QoDhStmrar (o Dordecisow
Options :

: o —dxy+y*—8x+4y+4=0
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- 4x* +4xy +y* —8x +4y+4=0
P HAxy+y*+8x—4y+4=0

) w 4x* —4xy+y* —8x—4y+4=0

Question Number : 49 Question Id : 813561689 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 15 the formula for finding co-efficient of variation. given ¢ = standard deviation and
X =mean # 07

DOVT 080 SN L ATGaW ('9&%6‘. 0 = FATHS Jdvdoe Bodw
¥ = ?3053}&55530 +0)
Options :

x 100

a | x a | =

M

x 100

5¢||'~'-‘|

Question Number : 50 Question Id : 813561690 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

; (23;1) t(ﬁ l3r{)_
an 3 co 3 )~

Options :

V3 —tan (% + H)

3 % V3 +tan 8
= T
V34 cot([——86
 Eran(Z-0)

Question Number : 51 Question Id : 813561691 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

'n_ . ' v . . - .
If "C,. denotes the number of combinations of “n” things taken ‘r” at a time, then the

expression nC?_H + HC?,_l + ZRCT equals

n(,"?, 9008 N’ SRHL Do) 1T SRV WDy BRE0E D0y DoAY R0

o s, 1 n ATl .
ard, €.+ C_ +27°C =

Options :

+2
T CT

n+26

2 r+1
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n+1C 1

n+1 -~
(“'r—i-l

Question Number : 52 Question Id : 813561692 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

224+ 4% 6%+ +(2n)?
lim 3 =
n—co n

Options:
2

1.8 3

4
3

mlr..u

-m]lCCl

4. ®

Question Number : 53 Question Id : 813561693 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the degree of the differential equation yng 24 3y, +y, =0.

T 2.'23 g T o e o s w
v, 74243y, +y, =0 03508 DB SRS BLVDHAW.

Options :

Question Number : 54 Question Id : 813561694 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

P 2
g Ky : ; ks : :
For the ellipse B 4 P 1. if a tangent with slope = intersects the major and minor axes at

P and () respectively. find P and Q

2 2

X y —4 ” o

e 8g,58 7 T R 28 0y6\6 STy B0k IR P 2ok
Q Do’ Dol 8 P, ) Dotoen AR

Options :

.+ P(6,0), Q(0,8)
, « P(0,6), Q(8,0)

5 % P(3v2,0), 9(0,4v2)
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4 » P(0,3v2), Q(4v2,0)

Question Number : 55 Question Id : 813561695 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The mean of 5 observations 1s 15 and variance 1s 9. If two observations having values
—5 and 13 are combined with these observations. then what will be the new variance?

5 HBFVT 032N AL GEFoFANIL ATHB Dewd 15 Ldaky Dd 9. & GTroTAS
—5, 13 090 Botd) 00T0R) B0y, AT (gredin a0g) DS Aedockddn.

Options :
6259

1. % ¥

6259

2659

2659

4.« 49

Question Number : 56 Question Id : 813561696 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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It r = mradivus, A= Area of AABC. s = semi-perimeter then which of the following is true?

ABC 970308 1 = ©9od6,90 a“é&)“gan, A= gaba progan, 5 = ©f tot0SVS R,

& o8 )¢5 DA ﬁéﬁ;ﬁn.
Options :
"
B
2. % o
.
3 % A= (rs)
4_@{,&:?3

Question Number : 57 Question Id : 813561697 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Maximum area of the rectangle that can be formed with the fixed perimeter ‘p” em

2" em otnSod o SguddTod” (188 DT o Aol DTV

Options :

P 2
1.% 8

- Cin
2.« 16

— cm
3. % °©
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T i
4. %

Question Number : 58 Question Id : 813561698 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let a,b € R — {0}, and I, be the identity matrix of order 2. Then the rank of the (block)
al, }11’2]

al, bL|"®

matrix [
a,b e %‘J"FSIS@CS TRD Vo Bk I a0 25 601D CrAE Srds Ba,

{;Urz b[z
(11’2 b[z

] awe), £8 dudoed.

Options :

5
1.4 =

r_J,_:

Question Number : 59 Question Id : 813561699 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If y = V3x + ky and v = /3x + k; are two parallel tangents of a circle of radius 2 units.

then |ky — k5| 15 equal to

2 o den auéavgam (0 2,8 S8 y = V3x + ky 0805 y = 3x + ky e Botd

RET0d0 20 G0 o [ky — kyf =

Options :

1% 1

Question Number : 60 Question Id : 813561700 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
Letu =1 —2j andv =—37 +5] . Consider three points P, Q and R having
s -1 -1= o . T
position vectors = L and —21i + 3 respectively. Among these, the points in

the line segment passing through u and v are
W=1-2].7=-31+5] P,Q,R oo I vbéen daorr —=1,-=7 .
—21 +3] w0 7,7 0 & gen) 52 Dot D6 2 Dot & DD Ao,

Options :
Only P and @
| P &08aodw @ Srda
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Only P and R
P 208030 R &07g

Only Q and R
3 % Q S0basw R Srday

all P,Q and R

, x PO R

Question Number : 61 Question Id : 813561701 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

J dx B
cos?(x) + sin(2x)
Options :

1 .
= log |14+ 2cos(x)| + ¢

1. %

1 .
= log |1 — 2tan(x)] + ¢

1
—log |1+ 2tan(x)| + ¢
3.4 2

1 :
= log |1 + 2cot(x)| + ¢

Question Number : 62 Question Id : 813561702 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the equation of circle having normals (x — 1)(v — 2) = 0 and a tangent 3x + 4y =67

3x+4y=06 ‘é:bdgéa:méy (x—1)(y-2)=0 edeot) Bneomadr v HRDEBEAD

Options :

L o@D+ (-2 =1

, » @=Ly —1)r=1
- (x+1)2+(y+2)?%=1

e @2+ G+ =1

Question Number : 63 Question Id : 813561703 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the lines 3x + y—2 = 0. px 4+ 2y — 3 = 0 and 2x — y — 3 = 0 are concurrent, then p =

3x+y—-2=0, px+2y-3=0, 2x—y—3 =0, 00 VE¥0DL DNTW ond, p =

Options :

1. % —D

2.¢ O

4. % —3
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Question Number : 64 Question Id : 813561704 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A circle passes through the centre of another circle x> + y? = 3x —4y —1 =0 and
whose centre is (5,2). Then the equation of this circle is

xf 4+ yE = 3x — 4y — 1 =0 5880850 ot T'ér (5,2) So@anrmr e 5y
HAECRAD BLLNAD.

Options :

v 4x% 4+ 4y? —40x — 16y 4+ 67 =0

, % 3x2 +3y2 —40x — 16y + 67 =0

- 2x%2 4+ 2y%2 —40x — 16y + 67 =0

4% X2 +y?—10x—4y+67 =0

Question Number : 65 Question Id : 813561705 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If 2f(sinx) + f(cosx) = x then f'(x) =

2f(sinx) + f(cosx) = x @0 f'(x) =

Options :
1

1. "\."1_3('2
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Question Number : 66 Question Id : 813561706 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Reduction of proper fraction M mto a sum of partial fraction depends up on factorization

g(x)
of
% gme:}almm Jés ei}::;l;mu 20B200MT TrODEW ) SPEEPos e
gix
DZLOIEAND BETEIEIR0
Options :

f(x) alone

- f(x) Sorgdo

g(x) alone
5 v () Qg

both f(x) and g(x)

- f(x) 208050 g(x) 0 BolotD
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factors of f(x) and g(x)
4w f(x) Sodasn g(x) © s*EFos~uA

Question Number : 67 Question Id : 813561707 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

loge 729  log; 5
log: 27  logg 25

logs 5 log,; 5] .

The value of foeti fsmiiy 15

log: 729 log; 5
log: 27  logg 25

logz; 5 log,- 5

log:9 log: 9 i

Options :

3 % log: 9

4o (logs 5) x (log: 81)

Question Number : 68 Question Id : 813561708 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the chord of contact of tangents from a pomt A to a given circle passes through B. then the
circle with AB as a diameter will

8 320 G A Dotdos )6, B Dotoid) tbow I8, AB arffosurr o g
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Options :
Touch the given circle internally

QR 5T WodGolT R, TR0

Cut the given circle orthogonally

5 @ BN HyT"V) VorITT Do

Touch the given circle externally

TN T eI D F0eB

Neither intersect nor touch the given circle

. ’&a&é Sﬁag":}l ﬁm’?cﬁm, Mol otdithd
4,

Question Number : 69 Question Id : 813561709 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f(x) =e*; g(x)=In(x) forall x € [1,20). then fog is

[1,00) e90d6a10e5° f(x) = e*; g(x) = In(x) eond, fog

Options :
A one-one function

1% 2,5 9_9;555;‘.113

An on-to function

5 % 28 RofRa0

Not a function

3 % Do0oDHAL S
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Bijective

A HVAREL
4. g

Question Number : 70 Question Id : 813561710 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The direction cosines of the vectora = —2i + j — 5 k are

@ =-214 ] —5k26% wws), 65 Epoen

Options :
e X =2
% V8'v8'48

|
£
w‘[b—*
=
-
(%]
=)

Question Number : 71 Question Id : 813561711 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

(x +1)2 Iy —
J_r(_xz +1) * T

Options:
AP EAMCET 2020
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- log [x(x®2 +1)] 4+ ¢

5 % log |x| + ¢

: e g
3 v log |x] + 2Tan *(x) + ¢

4% 2log |x| + Tan 1(x) + ¢

Question Number : 72 Question Id : 813561712 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The locus of a pomt P such that PA + PB = 4 where A(2,3,4),B(-2,3,4) is
A(2,3,4),B(-2,3,4) Docopwo PA+ PB =4 b 50oB P Dotdd) Dotddawn
Options:

J;2+Ez+6j-’+83+25:[}

- y2—z2+6y+8z—25=0

v 422 6y —8z+25=0
v - ;

4w vi+zP—6y—8z—25=0

Question Number : 73 Question Id : 813561713 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If (2+1)isaroot of the equation x® — 5x% + 9x — 5 = 0. then the other roots are

2 =5x2 49 —5=0% (2+1) rosn ewond DADH Jrednen Suo)dw.
Options :

1land (2 —i)
1 ¢ 1 SoBaiw (2 — i)

—1and (3 +1i)

L —1 308050 (3 +1)

0and 1
3 % 0 S0dosw 1

—land (-2 +1i)

, w —L0Ba (—2+1)

Question Number : 74 Question Id : 813561714 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The locus of the point whose ratio of distance from the origin to its distance from (-2, —3)
is 5 ¢ 7. 1s given by

QPO BAN (-2, —3) VoY dw Aroe Apd 5:7, woi:}geag.p 8ot
Dotired) o), Dotuies PedECe
Options:

v 24(x% + y?) — 100x — 150y — 325 =0

, % 240x*+y?) +100x + 150y — 325 =0
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- 24(x% + y*) — 100x + 150y + 325 =0

4 % 2x% +2y% =325

Question Number : 75 Question Id : 813561715 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The possible value of sin®(8) + cos®(8) — 3 cos*(8) is

sin®(8) + cos®(8) — 3 cos*(8) 5“@5;‘36'1 Ded

Options :

1.532

Question Number : 76 Question Id : 813561716 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In AABC. £A = 90° and co-ordinates of points B and C are (2,—4) and (1,5). Then the
equation of the circumeircle of AABC 15

AABC & £A = 90° 20800 B, € Dockodywn S&Rm (2,—4) 0050 (1,5) waws, AABC
g, HOS)8 LT

Options:
AP EAMCET 2020
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>+ y*+3x+y+18=0

, x X +y =3x+y—-18=0

3 2 4+y*—3x—y—18=10

4 % x> +y2+3x—y+18=0

Question Number : 77 Question Id : 813561717 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the pair of straight line given by Ax? + 2Hxy + By? = 0. where (H% > AB). forms an
equilateral friangle with the line ax + by + ¢ = 0.then (A + 3B)(34 + B) =

Ax? + 2Hxy + By® = 0 %0vBarosnrf, 208 (wcsye (H > AB) 208050 ax + by + ¢ =
0 DO¥0R 28 RVEFTV GFY) D6\ER, B\ (4 +3B)(34 +B) =

Options :
v 4H°

, x 2H?

3 % —2H?

4 % —4H?

Question Number : 78 Question Id : 813561718 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

4

J tan’(x) dx =
0

Options :
T
1.% 4
K3
SR |
2.% 4
l—_
3. ¢ 4
4% Y

Question Number : 79 Question Id : 813561719 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the equation x2 + 2v/2xy + 2v% 4 4x + 42y + 1 = 0 represents a pair of straight lines
which are parallel to each other. find the distance between them is

x2 4 2V2xy 4 252 + 4x + 42y + 1 = 0 208080 28 DTS Barasom) ) AT,
&3 O 2065 Arga Joch?
Options :

4 units

1% 4 Qi dLw

2 units

5 @ 2 ojmhgp
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2+/3 units

3 % 2V 3 odarQew

4+/3 units
4+/3 aharDen
4. % =

Question Number : 80 Question Id : 813561720 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

P 1 R — 300
(—i +v3)  +(—i- ’v‘g) =
Options :
300
1. % 2
5301
2.9 z
100
3. % 2
300
4 % 2
Physics
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
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Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 81 Question Id : 813561721 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The S.1. unit of length is “meter”. Suppose we adopt a new unit of length which equals x

meter. Then, the area of 1 m® expressed in terms of new unit has a magnitude

Fec) 08 S.1 HATERAD M. 26DY TEDHD 28 §8 HATRIWT ¥ DOCT

SR8 0w, e 1m” pFege £ parmos’ HBArno Jod?

Options:

Question Number : 82 Question Id : 813561722 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The central fringe in the mterference pattern obtained in Young's double slit experiment will
be a dark fringe when the phase difference between the waves from the two slits is

300 200 BS HATFANS' D6\ER )OS0 JFfrans’ oot 98 VS D TITII).
5 Bot DEL Kol 3y B6ere) 06 G0t 0NN GTHEAW dodd?

Options :

1.% 0

T
2

Question Number : 83 Question Id : 813561723 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two balls X (2 kg) and ¥ (4 kg) approach each other with equal speeds of 10 m.s™>. If the
collision is perfectly elastic. the new velocities of X and ¥ balls are respectively

B0 08000 X (2 kg) 08050 ¥ (4 kg) 260D 3% 288 10m.s7! daddd
mbh@mlw. T 206 DOQPY fg@g“bs DI 2000 ST X,V wodow

ST SEAT™ ,
Options:
50 —10
— m.s7!, — m.s7!
1. % 3 3
2. %

AP EAMCET 2020



AP EAMCET 2020

—~5i) —10

— m.s!, — m.s1
3 3
—50 10
— m.s . —m.st
3.
50 _ 10 -
— ms . —ms?
4. % 3

Question Number : 84 Question Id : 813561724 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The moment of inertia of a rectangular plate of mass M. length L and breadth B. about an axis
passing through its centre and perpendicular to its plane 1s

Sogo ot o $erdS LoweT &8 Lo M &3, L T, B dcevy o 68
SACTECY DOE BEA] TS0 Dedd

Options :
M(L+E)
1. ® 12

M(L?)
¢ 12

M(L*+B?)

M(B?)
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Question Number : 85 Question Id : 813561725 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A train of 150 m length is going towards north direction at a speed of 10 m. s 1. A parrot
flies at the speed of 5 m. s ™" towards south direction parallel to the railway track. The time
for which the parrot flies alongside the train is

150 m © Terio 28 Joo 68668 2 10m.s™ S48 Hoirdivd) 8. & Jev 2ro-d8
RATIEANT GLEPAS D) w8 Deos 5 m.s™! HAS I & 08w, o
Qes Gy S dod S0 H?

Options :
1 = 12s

3 10 s

4 % 28

Question Number : 86 Question Id : 813561726 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two identical thin bar magnets. each of length ‘I" and pole strength ‘m’. are placed at right
angle to each other with north pole of one touching south pole of the other. The magnetic

moment of the system 1s

T T, M y0ato $OAD 8 05208 Dot DRV Cotk WOH TR 2,5TE 58
0RO 0BAI 2L &6 Gydo, DFEETA BEM (T TOEP Golerr Gotrdd.

O & S50 dg) 0D 08 gPvSo od?
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Options :

5 % Im

3 % 2lm

4.«‘53”"‘

Question Number : 87 Question Id : 813561727 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A charged cork ball having mass 1 g and charge ‘g’ 1s suspended on a light string in a uniform
electric field as shown in figure. The ball is in equilibrium at @ = 37°, when value of electric

fieldisE = (3 T 5?) x 10° N.C™*. Assume T as tension in the string. Which of the
following options are correct? (given sin37° = 0.60 and g = 10ms ™)

1g 65073, 'q’ D30 (0 w8 T0], wod DLW ErHR JEAOT 28 DS D[S E84nd’
#9)9 6 oo Judbabudan. e 88 s E = (37 +5]) X 10°N.C™*

ER) W, 0 = 37° 96 1od I3\ ?ga & &Y. o (8 T eond SoBE" %0
036 DA? (sin37° = 0.60 28080 g = 10ms™2)

LA A,
g

3

>

Options:
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L% @=11x107°C

, v T=555xX10"°N

;% 4=12%x107°C

4 x T=455X1073N

Question Number : 88 Question Id : 813561728 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An automatic gun fires 360 bullets per minute with a speed of 360 kmph. If each bullet
weighs 20 g. the power of the gun 15

8 AD6BTE DANRANHL 360 oG bw:]rﬁl DOSE 28 Mot D 360 kmph

99 och G3(0°3 20 g 00 206808 G0 Jod?

Options :
1 % 75 W

2 % 150 W
3 % 300 W
4« 600 W
Question Number : 89 Question Id : 813561729 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Wein's displacement law states

DD 0P Db

Options :
An T = constant

AT = Q0080
1.¢ ®

A
Tm = constant

A
% = DT80
2. T ®
T
— = ¢constant
Am
T 3
S NOP0S0
3. % ‘m @
An + T = constant
Am + T = Q00850
4, % @

Question Number : 90 Question Id : 813561730 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Water is flowing through a horizontal pipe in streamline flow. At the narrowest part of the pipe

£82 DArods fbdn oo N OB DT dotd, ed ) D arridn 3¢

Options :

Velocity 1s max and pressure is min

BAEAD ABHAD HEIHAD EDNAW
1.¢ = =
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Pressure 15 max and velocity is min
DEDI0 FBHAW DRA0 SIHAW

Both pressure and velocity are max
DEDI 206050 DTe (BB

Both the velocity and pressure are min
DB 20BAHD DETEL SINRIW

Question Number : 91 Question Id : 813561731 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the wavelength of a photon is 4000 A. then its energy will be

28 Ferd aog), SoriBgo 4000 A 008, oD 38 Jod?

Options :

—19
| 495x1071 7

, x 595%1077 3

3 % BRIy

4 % 695%107%% 7

Question Number : 92 Question Id : 813561732 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

An 1deal heat engine has an efficiency ‘" the coefficient of performance of the engine when

driven backward will be

w8 666, 6 Wodan GES I’ I DL HEHS SairBus Hngaw

Options :

-

-

Question Number : 93 Question Id : 813561733 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A body of mass 5 kg acquires an acceleration of 10 rad. s~ due to an applied torque of
2 Nm. Its radius of gyration 1s

5kg Q;ﬁéﬂ‘%‘ o 28 S, 2 Nm eeabur] BV &f’oo}rﬁmﬁé‘a‘abm, 10rad.s™2
E'edal AT TodD. &8 S Pdoes a';gﬂ"go Doc?

Options :
1 % 25m

5 % Va&.5m
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3 % V02m

02m

Question Number : 94 Question Id : 813561734 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 100 N force is applied to 10 kg block as shown in the diagram, 1e=0.6, =04
the acceleration of 40 kg slab 1s
100N «—10kg
H808” PR o 100 N werd) 10 kg By DArAWR),
40 kg 630) 038, &R0 10ke
Options :

1 % 165 m. s2

, » 098 m. g2

3 % 0.5 m.s 2

4 % 025 m.s7?

Question Number : 95 Question Id : 813561735 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In a rocket, fuel burns at the rate of 1 kg /s. This fuel is ejected form the rocket with a
velocity of 60 km/s. The force exerted on the rocket by this 1s

28 TBE" Rogido (5irBe 1kg/s. & Rotido T8 Aood. 60 km /s Dlfod oD
DoDLEIB0B. B 8 T dod W) POIrHRIA?

Options :
1. % 60N

, % 600N

5 % 6000 N

4 » 60000 N

Question Number : 96 Question Id : 813561736 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The rate of radiation of a black body at 0°C is E I.s %, The rate of radiation of the black
body at 273 °C will be

0°C acg éaf%; S0 D80 Bew E . s7L, 273 °C b-:g 53,% SRV D866 Bew wodh?
Options :

1. % E J.S_l

, % 4E J.s7
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. -1
4 16 £ )8

Question Number : 97 Question Id : 813561737 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a source is transmitting electromagnetic wave of frequency 8.2 X 10° Hz. then wavelength
of the electromagnetic waves transmitted from the source will be

28 BISAN DBV B DAEADF) 08 S0 FBxY( 8.2 X 10° Hz ©ond, &
25AN DG (HHBeDED) B 363351:‘()01).3"&0@ oo édor@gs;m Bvdod.

Options:
1. ¢ 36.5m

3 % 423m

4 % 50.9m

Question Number : 98 Question Id : 813561738 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The power utilized when a force of (2? +37 + 4?&) N acts on a body for 4 seconds.

producing a displacement of (3 i4d74 5?6) m. is
28 330 6 (21 +3] +4k) N 0erd) 4 2800w HErhod iy & S0

(37 +4] +5k)m FRFoso Do, & HEAHL &HAFNHEDD &mgéo dods?
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Options :
1.« 95 W

, % 75 W
5 % 65W

4% AW

Question Number : 99 Question Id : 813561739 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A copper wire of radius 0.1 mm and resistance 2 k€ is connected across a power supply of 40 V.
The number of electrons transferred per second between the supply and the wire at one end 1s

0.1 mm J")@‘go 0, 2 kQ T5rs BTG £DAD w8 T°h Srie 40V D‘ﬁ’ﬁé 205708
SR8, DS DA Aol O oD w8 FSE” Parold JuFoY Qo
Options :

| 2.00 x 10%

, » 125 x 10

17
L« 285%10

4 x 325x 1086

Question Number : 100 Question Id : 813561740 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a thermodynamic process pressure of a fixed mass of a gas 1s changed m such a manner
that the gas releases 30 J of heat and 10 J of work was done on the gas. If the initial mternal
energy of the gas was 30 J. then the final nternal energy will be

w8 GBS tﬁﬁéé‘ =0 50:37508" AE D wE Traing) 307 &gﬂl 0038 B, e
a0 10720 Bawd ol & woj g, fac‘.a:)l Aro®. 8 oo 9
o8 38 30 ] owd, & BB Boddd 35 BUdL.

Options :
1.% 27

, x —187

Question Number : 101 Question Id : 813561741 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A gas is compressed from a volume of 2 m® to a volume of 1 m* at a constant pressure
of 100 N.m™2. Then it is heated at constant volume by supplying 150 ] of energy. As a
result. the mnternal energy of the gas

6 DA 100 N.m ™ 3¢ 8 Ta0: R00a7maw 2m® Aol 1m® e

F ST

0020 BoBIB. (34} Ta8) i’gd RD0E300 Dcé’}) Je0i0:HS 150 T 389 e90Bow)
SEAFD. & DIV TAWY) BoddS 38

Options :
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increases by 250 J
| v 250 T 260508

decreases by 250 7T
250 T &
2. % r

decreases by 50 7]

50 J e
3. % &

increases by 50 J

4w 50T 00

Question Number : 102 Question Id : 813561742 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A point mass of 10 kg is placed at the centre of earth. The weight of the point mass 1s

#rSoto 96 10 kg o w8 Dot Q,;550°93 Goltrd. & Dot @;350"% qs); @rdo dodd?

Options:
Zero
wt:.‘)?ga

1.9
, % 98N

5 % 49N

4« 10N
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Question Number : 103 Question Id : 813561743 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A stone falls freely such that the distance covered by it in the last second of its motion 1s
equal to the distance covered by it in the first 5 seconds. It 1s m air for seconds

NN S0t ISP w8 TN DB VSRS HOSrEhowd Crdw b 2068 5 SvY’
D08rtotd ArTrAd DA, 88 mdS” doth SPVAL &0

Options :
12

> 13

L % 25

4, % 26

Question Number : 104 Question Id : 813561744 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The wire of potentiometer has resistance 4 Q and length 1 m. It is connected to a cell of e.m.f
2 V and internal resistance 180, The current flowing through the potentiometer wire is

Foair D aog, & Ao 4Q 0a Ta 1m. 96 1Q ws6)Bge, 2V debyryws
8o (10 PO Sendeiod. GO, 8 THIT D6 18 ok HAFoid S DTFo Jod?

Options :
1. % 014
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, % 024

5 v 0.44

4 % 0.84

Question Number : 105 Question Id : 813561745 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a pressure of 8 X 10% N.m ™% is applied to a lead block so that its volume reduces by 20%.
The Bulk modulus of lead block 1s

w8 D2 BaD 8X 10° N.m™? ey seuiEahonsusd sidaraed’ 20% 3hd.
SO & Y B TS, GET® rago Jods?
Options :

. 4% 107 N.m™2

’|_$$
5 4x10° N.m™?
3 v A% 10° N.m™2

n 4 x 1019 N.mm2

Question Number : 106 Question Id : 813561746 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A shot 1s fired from a point at a distance of 400 m. from the foot of a tower 100 m high. so
that it just passes over it. The direction of shot with respect to the horizontal is:

100 m O 0 28 TeD3 oo A8, o Kool 400 m Gr6os” (0 8 Dotod) 3¢
o6 w8 Aok i::%::‘t’.,}gc:‘.}. 90 €3 “gmo N (e éﬁdn‘*. o0l ) Trelod. 00,
2haNATd60 cég,g’s &3 (Dot 33%&') &% dudoG.

Options :
1. % 30°

5 = 60°
3.% 70°

4 o 45°

Question Number : 107 Question Id : 813561747 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The unit of magnetic induction 1s
0T, 08 DOEI DITEIAN

Options :
1. Wb m™?

> * Wbm™
. x WbA

4 % Wb
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Question Number : 108 Question Id : 813561748 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 100 V battery 1s connected across the series combination of the two capacitors of 4 UF
and 8 UF. The energy stored in the series combination 1s

4 [IF 2080300 8 IF i) Bocd SJraeigsd 363" 100 V ar5e36§ Zo0DLEAE. oND 363
RomrRes” Jodd 3§ 39..!5 Gobtod?

Options :
1 % 0.75 X10°27J

=2
, »133x10727

3 % 057

4 B

Question Number : 109 Question Id : 813561749 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The maximum force acting on a particle executing simple harmonic motion is 10 N. The
force on the particle when it is midway between mean and extreme positions will be

RO¥ Ud) S SRV WD) w8 SpRp HIBY (82 e 10 N 000 & Sedw
aE), ATB[RS, Body g":ruso BT S0G(e" B0 2P &P LA
Options:

| % 10N
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, % 12N

3¢ 5N

4. %

Question Number : 110 Question Id : 813561750 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 0.5 kg block of brass (density = 8 X 10° kg.m™ ) is suspended from a string. What is the
tension in the string if the block is completely immersed in water? (g= 10 m.s™2)

28 05 kg wdd B (o = 8 X 10° kg.m™?) g &vod, JereBopncae. G
O™ 5" 20 oot TS B (g=10m.s72)

Options :
| % 5N

Question Number : 111 Question Id : 813561751 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Choose the wrong statement to complete: An ideal solenoid has

Eo0:3°JS5" 0B 57 DIWAAN JohERVIW: 866y TITané &

Options :
the turns widely separated

| @ z:.i:)gp GrGolT GofI o)

the turns closely wound
T GEOTT G0

the length 1s very much greater than the radius
TG0 S0l TED TrUT IS

the magnetic field inside almost uniform
&°00 aDHI7 08 TSHW DEOBTTVCEIA

Question Number : 112 Question Id : 813561752 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A solid cylinder of mass ‘M’ and radius ‘R’ rolls down an inclined plane of length °L" and height
‘h’. without slipping. Find the speed of its centre of mass when the cylinder reaches its bottom?
M g3, R’ :.r"?@“gan () 28 DO 'rgl"a'.)&ﬁ)) 28 ‘L’ TEY, ‘h’ o o Tew dodw
Dot 2PESE BB B. & ;fw%‘.::mo T0AAN $08S VO T @02 SoBn
awg) He=__

Options :

| % W 2gh
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3gh
2. % %
4gh
3
3. %

Question Number : 113 Question Id : 813561753 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The minimum horizontal speed with which a body must be projected so that 1s goes around a
smooth vertical cireular track of radius 4 m 13 (g=98m.57%

8 309 28 B0of) IIVYT €oDR, 4 m (o 0 & 38 20O 1ot
Hairoches) aBB0RS $30 §82 Hireds Ho Jod? (g=98ms2)

Options :

| % 7 mst

-1
> 14 m.s

3 % 0.7 m.s 1

4 = 14 m.s !
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Question Number : 114 Question Id : 813561754 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A body 15 projected with a velocity greater than orbital velocity but less than escape velocity.
Its path 15

DL BN S DA SE‘SZ'JH.“.‘;J} Sofd 80, DTTADRDARD Sotd B8 oS
o (0d g

Options :
circular

1 % TS 000

elliptical

- B3 D56

parabolic

3 % PTTOOHOD

hyperbolic

4 % B8 DTDVODID

Question Number : 115 Question Id : 813561755 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

Find the current through the primary coil(P) of the transformer shown below?

DOING"D HBIGE TS DB(P)S" DS HIFH

23V
(1150)

AN —

230V ( Q 2

]

AAAA

(i s}

Options :
1 % 0.084

5 » 0.044

3. ¢ 0.02 A

4 % 0014

Question Number : 116 Question Id : 813561756 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A Zener diode is made by

Er‘éﬂ‘lﬁ Gairé e‘_’aoﬁrdcﬁ.‘}é :ch@

Options :
Heavily doping both p and n sides of a p — n junction diode.

| o P R08 a8, p,n- DR Gociothd) BT Srdssen Sabde (T,
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Heavily doping the p side and lightly doping the n side of a p — n junction diode.
P — N R0 AS) P D VASOTTA, N DY) VYO Ardsdnsw Bobdo (.

Lightly doping the p side and heavily doping the n side of a p — n junction diode.
., PN Nl CINS) P D) BVYOTTRY, N PY) VRSO ArBgondn Bobde AN

Lightly doping both p and n sides of a p — n junction diode,

, x P 77008 G p,n- DO Goto3R) oo Ar8E6en Babte T T

Question Number : 117 Question Id : 813561757 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The magnitude of induced emf 1s directly proportional to the rate of change of magnetic flux
linked with the coil. This statement 1s known as

208 TS o o) AE), DI 0 AT B BG Arddarded’

Eotod. & ms'*ébl D0t ?

Options :
Ohm’s law
| % LEUD Qoo

Lenz’s law

5> % Do Qoo

Faraday’s law
3 ¢ FGE Dabsvo

Ampere’s law
4 % 30200506 Joo
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Question Number : 118 Question Id : 813561758 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

An electric dipole with dipole moment ‘p’ is placed with its axis at 30° to a uniform electric field.
The work done in rotating the dipole to a position where its axis is perpendicular to the field is

AU 830 p (0 28 DAAS BT T eFdw 28 D588 S SwE 30° Eraiw
SO Gorrdd. & ()0 OFY) FTS VLT Goltt GNES Jod 1 BoLITD?

Options :
1. % 2pE

Question Number : 119 Question Id : 813561759 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a capacitor 1s connected to a battery

208 S0 28 erd & SPDIIYD

Options :
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An alternating current flow in the circuit
. SVODANS” DSTeBE DES DT

No current flows in the circuit
. Se05H80e5° JEWIotd DAS DDIPoTIE

A current flow for some tome and finally it decreases to zero

v S0t DS Sodd 3)5535& DdeTow), ST DS o RO BBl
3. o

Current keeps on increasing and reaches maximum after some time

. 36&35?5 DR DS, § %‘i}i}éﬁ’ﬁ (B3 Dend B0
4. =

Question Number : 120 Question Id : 813561760 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A steel wire of length 20 cm and area of cross section 1 mm? is tied rigidly at both the

ends, When the temperature of the wire 1s changed from 40 °C to 20 °C. find the change in

its tension. Given, the coefficient of linear expansion for steel is 1.1 X 107> K~* and

young's modulus of steel is 2.0 x 101 N.m ™%

20 em Jeka, 1mm’ w8 TopEn o w8 ey 8 dng) Gotd DIV dyor
DR, & & egﬁge:sm 40°C Aol 20°C & ST TR fe:’sr'\‘:igvﬁl;‘i“s Arddy VG
&8, 86, (8 Aomgan 11X 107° K™ 20805 olvof (a0 2.0 X 10 N.m™

Options :
1. % 22N

5 @ 44N
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3 % 16 N
4. % 8N

Chemistry
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 813561761 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In the Dantel cell. Zn | Zn** || Cu®" | Cu . when an external voltage is applied such that

Eoxternar = Eceyp - current flows from

28 EAHS Powod” Zn | Zn*F || Cu* | Cu 6" Epg = Eqpy ©0OXE) 9305802
BFD. B\ DAAS YT o

Options :
Znto Cu
1 ¢ Zn oo Cu
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CutoZn
Cu Ao Zn

No current flows

DA T*0 o)
3. % =

Data msufficient

4 G030 amof@gm

Question Number : 122 Question Id : 813561762 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the energy required to convert all atoms in 4.8 g of Mg to Mg?* in the vapor state.
[E; and IE, of Mg are 740 kJ/mol and 1450 kJ/mol respectively.

48P0 Mg & o HESrmSHvR moﬁwi‘g@é‘ i Mg*" oirRoenT Ard )
50 38 O8) etdoc.. Mg aivg), IE;, IE, wu Sddore 740 kI/mol Sr8as 1450 kI/mol.

Options :
1% + 740 kJ/mol

> & 740 kJ/mol

3 % 1450 kJ/mol

4 » 1438 kJ/mol

Question Number : 123 Question Id : 813561763 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the binding energy of electrons in a metal is 250 k] /mol. what should be the threshold
frequency of the striking photons in order to free an electron from the metal surface?

28 Oy’ JUERIL a0g) wocid 38 250 kJ /mol eand, w8 D) AEUBoLD
Ted0 BADHVAD ﬁﬁﬁl‘z? (£ oo 3“:6::3)835&1) QJodh?

Options :

. 14 -1
| 626 X101

' 14 ..—F
, x 124x 105

,  B26x20% s

4 % 12.4x10% 571

Question Number : 124 Question Id : 813561764 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If AH > 0 and AS = 0. the reaction can proceed spontaneously at

AH = 0 S0badn AS > 0. 90006 ﬂﬁdﬁ Gty otSorT™ 2 20 & Coy6a?

Options :
Low temperature
1% ejs.:)?jb Eg’ﬁeﬁ

High temperature

, o 088 egﬁge:a
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All temperatures

©dy e%ﬁ;je:&m

Will never be spontaneous

4 % ‘;cgz:’st)acﬁortr“ 200550

Question Number : 125 Question Id : 813561765 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following is an example for Chain-Growth polymer?

20l T&° 30007 DD)0 TDH6 D eTr6n?

Options:
Bakelite
- IS

Tetlon

, o B8

Nylon

3. % DTS

Terylene

4w 900D

Question Number : 126 Question Id : 813561766 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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In an agricultural field. which among the following 1s the highest producer of methane

S0 aD Gorane’, §0BTAS" WA B VHSIT GB\E BB DA?

Options:
Wheat crop
1% Ao Do

Paddy crop
5 o DB Dot

Cofton crop

L 08 Dow

Groundnut Crop
4 % 23D Dok

Question Number : 127 Question Id : 813561767 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The molarity of 0.2 N Na,CO; solution will be

0.2 N Na,CO; graeso 2o-erded
Options:
| % 0.05M

, % 02M

3 01M
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4% 04M

Question Number : 128 Question Id : 813561768 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The number of elements among 0, Cl,F,N, P, Sn, Ti, K, Sc which show more than one non-
zero oxidation state 1s

0,CL,F,N,P,Sn,Ti,K,Sc fnreses” 2,58 Sobl REVEVEWRNIG: e.séssc'ea ‘gmm
DB 0t APSETY Vo) Jodh?

Options:

Question Number : 129 Question Id : 813561769 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following represent the structure of methyl hemiacetal of formaldehyde?

S0l TU" 2 o0 T Dordl AW FS TIPS BDoHB0E?

Options :

1. %
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OCHs
j.r"
CH:— CH <
OCHs
COH
3
CH;: — CH
.‘\-\- ¥ "
5 % OCH:
OH
b
H.C \\
OCH;
3. %
OCH;
/’
H:C
.
4 % OCHs

Question Number : 130 Question Id : 813561770 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Compound 'A' undergoes formation of cyanohydrins. which on hydrolysis gives lactic acid
(CH;CHOHCOOH). Therefore. compound 'A' 1s

0y W80 AT D0 TES VAL D0YHRV0B. B 2w e B6[E” erds saN
(CH;CHOHCOOH) bﬂ;)d)t:i)m. 890204, K}éayéa‘);ﬁn ‘A
Options :

Formaldehyde

), = TETE
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Acetaldehvde
AR el Fe o3

Acetone

L x DRSS

Benzaldehyde

Sordiré
4, % G

Question Number : 131 Question Id : 813561771 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Conc. HNQ; turns brown on standing due to formation of

e &otdd e HNO3, B Gofds) Arde DO S

Options :
1. % NO

Question Number : 132 Question Id : 813561772 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following units is useful in relating concentration of solution with its
vapour pressure?

S0 S TrarTY IE), 2 DIATHAN T Y DETIE 20050 MPESL
RoWOTTR)) BLOV) e08(S007

Options :
Mole fraction

1@ 27780 2Phadd

Parts per million

2?15:} D6 S
2.% =

Mass percentage

) g&ﬁénﬂ%‘ Fohadad
3. %

Molality

4% 200erde)

Question Number : 133 Question Id : 813561773 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The linear shape of €O, is due to

CO, e oIS, 3oDH :}U"ém;ﬁl}é& =085

Options :
sp? hybridization of carbon
S8, diwg) sp° DossmAN

1. %
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sp hybridization of carbon
s“dgjé aI0E); sp NeSEsGe0

pr — dm bonding between carbon and oxygen
5'“::5&-'35, Eébﬁﬁ © Q06§ P — dm eobdo

sp? hybridization of carbon
503D g sp? VoSESGE0

Question Number : 134 Question Id : 813561774 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The solubility of AgBr with solubility product 5.0 x 1072 at 298 K in 0.1 M NaBr solution
would be

298 K 3¢ 0.1 M NaBr graod” 5.0 X 1075 gradabee vgo o AgBr aing) gradabe=
Options:
1 % 7X107° M
~12
> 5 X 10 M
3 % 2 X 1071 M
4 % 5% 1075 M
Question Number : 135 Question Id : 813561775 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
The pH of 1078 M HCI solution is

107° M HCI gradesdon cawg), pH =

Options:
8

2. % —8

Between 7 — B

7 — 8 206
3. %

Between 6 — 7

6—?£ﬁ0¢5
4.+

Question Number : 136 Question Id : 813561776 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements 15 correct about the cathode rays?
1) These rays start from anode and move towards cathode

2) They are visible with human eye

3) Inpresence of electric and magnetic fields. they behave like positively charged particles

4)

4) Their characteristic does not depend on the nature of material at electrode

THE 36 Dotiolod) & Sob DISTVS’ DB Jzdw?

1) & &orren 836 36 B =86 S8 B

2) & S0TTeD ATRN Sotdd R0

3) ) DS 20Bas) O 08 EFANY’ GTIEIFOS En30L T PSGorio
4) 8 i Goye J)e.:g & HBAHS p BTY DED)

Options :

1.% 1

-3

Question Number : 137 Question Id : 813561777 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following acts as a vitamin?

Sod T8S” DA DD T HIT0Z0A?

Options :

1. %
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Aspartic acid
DFBS 5B

Ascorbic acid
5 D:‘J“Z,aaé 55905500

Saccharin acid
FSBD s HW

Adipic acid
. DEDE e3AD
4. % =

Question Number : 138 Question Id : 813561778 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The charge on colloidal particles is due to

Eerand e D AT DS (o) S°0ra

=
o

Options :
Presence of electrolyte
- DETE &E dHod

Very small size of particles

5 % Sere) HBAFAD 9 t'..la‘:‘l&‘l eariot) dDod

Adsorption of 1ons from the solution

5 v TO0RID Aot L0 AT AN JVD

4, *
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Can’t be determined
Z]g“ﬁctﬁe;?;ﬁn

Question Number : 139 Question Id : 813561779 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When CaCl, 1s added to AgCl crystal. the defect imntroduced 1s

AgCl 28806 D3 CaCll, 8618 D6\E &0 D&?

Options :
Frenkel defect only
2088 S°Ho S

Schottky defect only
2re38 &5°ho AT

No change
S0y GG

Both Frenkel and Schottky defects
2036 S0Bakn Ae5S & Frew oA

Question Number : 140 Question Id : 813561780 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The number of hydrogen bonds formed by a water molecule at normal conditions 1s

Fordn f‘.}ﬁfgmmﬁ“ D8 0 DB\6B TERD wotrY Roa)& Budoc,
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Options :
1w 1

4.v %

Question Number : 141 Question Id : 813561781 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Choose the correct option regarding;

Assertion: Energy of the orbital decreases with mcrease of ‘n’

Reason: Energy 1s required in shifting away the negatively charged electron from positively
charged nucleus

SoBT°AS NotloBow) WO BTL) BV
ByE0R: ‘1’ HBAS 5B, EPE5 38 B000
5°060: GTR3S0dS0 8350

ol

£2 A0oC: ATDF JVTAD SN 38 BIVC

Options :
Assertion and reasoning are correct statements and reason 15 the correct explanation for assertion
- $,D868 2B 560 PBAHD SBA 560 GHAEERL PBAV Di3be

Assertion and reasoming are correct statements and reason is not the explanation for assertion
- 6,68 80D SGe0 OAH T9 T6r0 ByDEBRL HBADH 36 &

Assertion 1s correct. reason 15 wrong
- GyNE0E DBADDA, S°Gt0 B2y
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Assertion 15 Wrong. reason is correct

Dt S, S6e DOADIA
N o D © RO,

Question Number : 142 Question Id : 813561782 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following items of List-I with those of List-II

List-I List-II
a) Nickel 1.  Electrolytic refining
b) Titanium ii.  Zone refining
¢) Germanium 1. Van Arkel method
d) Copper 1v.  Mond process

iFs) E'J‘fg:&ﬁ”s fie esoT o) 115 E)‘fgaa‘i" (o) DA oT VS 2 DOBC.

x0-1 dn-11
&3 e
a) DS L DS DFAS T DA
b) &erdobo i, Svode T
c) aé&.ﬁ)oﬁaﬁ) . T 800 Sl
d) =06 iv.  2o& DGS

Options :
- a— (iv), b — (i), c — (iii), d — (ii)

, x a= (i), b=(Gv), c— @), d-03)

3@ 87 (iv), b— (iii), c— (i), d- (i)
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Lw =@ b= @, co W), d- G

Question Number : 143 Question Id : 813561783 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

1-chloro butane on treatment with alceholic potash forms

1-88 SUOS 50 3508 Jerd & G| 2E0DTT DBCDB

Options :
2-butanol
E-wée;}s 5}

1- butene

1-m5e35

1 -butanol

1- m&é&Sﬁ
2- butene

2- wlg’e'biu

Question Number : 144 Question Id : 813561784 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The second ionization energies of Li, Be, B and C are in the order

$0830¢" Li, Be, B 20805 € © BBos eahsees 350 0G0 $22:30 HBorsdi.

Options :

133]_;1:3*{::}8:::3@

ZwLi:}B::»C::»Be

s x BE €SB B

I‘Iu:'l

B >C>Be > Li

LY

4. &

Question Number : 145 Question Id : 813561785 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Tincture of 1odine 1s the common name for

e‘bos&ﬁ £55 9030 €93 B iy ?

Options :
Todoform

mcﬁmfé‘ﬁé

2-1odopropane

2-2@B0ET DD

2-3 9% lodine solution in alcohol-water

uu&ﬁa’i-béﬁe £ 2-3 % DATFED TrHme
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Iodobenzene

4w DONETeRD

Question Number : 146 Question Id : 813561786 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the product of the reaction given below?

Sod t‘.f:cié 0300, GSyR) AW D) ?

CH;
Snl
H,;C———C——Br > ?
I CsHsOH
CH;

Options:

CH;
H,C c—CH;
CH4 CH - CH 0C.Hg
4.«
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CH;
S e 1 |

CH;

Question Number : 147 Question Id : 813561787 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which complex among the following has the highest value of spin only magnetic moment

$08 Vodarud” B8 e BTrEd LAV 08 ATV DLV GHSIVT Gotwol?

[Fe (CN)6]>, [Fe (CN)g]*, [Ni (CN),I%", [Ni Cly]*"

Options:
e
| [Fe (CN)g]

2. ® [FE‘ {:Cf""rjﬁ]q'_

5 % [Ni(CN),"

4 % INiCLJ?

Question Number : 148 Question Id : 813561788 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Vapour density of a metal chloride 1s 83. If equivalent weight of the metal is 6. its atomic
weight will be
w8 &> §06 e;ax.*g,ﬁ“og@ 83. &8 &0 Bov[Erdo 6 B, T DEIFM GRG0 od?

Options :

3. v 18

Question Number : 149 Question Id : 813561789 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which factor makes Li the strongest reducing agent in aqueous solution?

20 Gonsnees” Li @@}Smj B0 £05080663 DS (e G

Options :
Sublimation enthalpy

. SO0 Doy

Tonisation enthalpy
DODBND Jotrdy

Hydration Enthalpy

. TEAD dozrdy
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Electron-gain enthalpy

DS [1“:305 &}c:;r*@)ﬁ
4. # 2

Question Number : 150 Question Id : 813561790 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

What by-product is formed in the process of making phenol from cumene?

5)531).5 B00d T°ES SaiTEoEoi ?’.}cg&eﬁﬁ ﬁidhc.‘.) o) 50‘.’13"355‘}5;.‘113 E?

HsC CH;

(1) O2

W

(if) H*/ HhO

Options :
propan-2-ol
g TDD-2-58

n-propanol

n-THSeS

propanal

TS

propan-2-one

4 v TOI-2-88

Question Number : 151 Question Id : 813561791 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is the common oxidation state for ‘transition’ elements?

S0 TBE* BB MrusOS’ FEronm 88866 HS DB ?

Options :
1.%+3

2. % T1
3 v +2

ix 4

Question Number : 152 Question Id : 813561792 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following represents disproportionation of potassium chlorate?
008" Terdomo §665 030 B[ Ardode D6?

Options:

| % 2KClO; — 2KCl+30,

, » 3KClO3 — 2 KClO, + KClOs

. » 4KClO; — 3KCLO, + KCl
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Nomne of the options are correct
D 2T VOGO 5°ED

Question Number : 153 Question Id : 813561793 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

- - 2—
The bond stability of N;, N; and N, varies as

N, No ., N2~ o 206 260 A8 00
2, Ng » Ny JOSS

Options:

Question Number : 154 Question Id : 813561794 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Work done by an i1deal gas at a constant volume 1s

ff%d 20DDDAT 0 bcé:. £3¢636-eT°03Y) WO DA =

Options :

AP EAMCET 2020



AP EAMCET 2020

Question Number : 155 Question Id : 813561795 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which acid among the following has the lughest pK, value?

08 B5I20VS” VBB PK, Dend $DAD e300 AB?

Options:
1. % HCI

2 « HF

3 % HI

HBr

Question Number : 156 Question Id : 813561796 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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The 1onic product of water . with increase in temperature.

aJ'6d HBNS, 983 esasrDe wE0 Ded

Options :
Remains constant
%ﬁdoﬂ" oA

Increases
2 Faleblablh

Decreases
e:’a%bm

May mcrease or decrease
26ASTN T SO
M

Question Number : 157 Question Id : 813561797 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In the extraction of silver. zinc metal 1s used as a reducing agent. What 1s the molecular
structure of the zine complex formed m this reaction?

Dok :J?’-J{Igmﬁ& Zn &' A0 L00ERMT TTd. & zﬁd&@b bﬁ)é ‘08 ﬁo%ﬁgmi 0105%
£962) 30‘&9&.‘.‘1}3 AQ?

Options :
Tetrahedral
5060 DS

1.4
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Linear
5 % ODaH

Bent

5 x Eedad

Square planar
RSO0 DSY

4. %

Question Number : 158 Question Id : 813561798 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following polymers can be formed by using caprolactam monomer unit?

$0RT, S"@U"gfn ArdH6 CrARRD &DOIrR0D) doird Soriv FDd J8?

Options :
Nylon-6.6
QerD-6,6

Nvlon-2-nylon-6
QEI-2-Qer-6

Melamine polyvmer

2V D'O206

Nvlon-6
QU”D-6
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Question Number : 159 Question Id : 813561799 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which species among the following doesn’t show disproportionation reactions?

20878" BRWIS WO BrHIB (HBS°IB) D&?

Options :
Cio,

1. %
, % Clog
5 % ClO~

4 ClOF

Question Number : 160 Question Id : 813561800 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In the chemical reaction 4 — B. what 1s the order of the reaction? Given that the rate of
reaction doubles if the concentration of A 1s increased four times.

4 = B &) 6Frads dsd}g!ﬁ‘ A rEdd 4 5 Do), LAY Stdox) erbiv. wand, &
636] S80S0 Q00D

Options :
2

, % L5

Lo 05
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